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f(x), g(x) : WAFTEE, k : B
f(z)

= kf(x), f(z) +g(z), f(x)g(z), el bW AT

z)g(x)) = f'(x)g(x) + f(z)g'(x) (RDOWIE)
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f(z)= (22 +32+2)° DLE,

fl(x) = (2x+3)° ?

f'(x) =522 + 3z 4+2)* ?
f'(x) =52z +3)* ?
EhHERD!
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Bt =g(x), y=f) ICHLT

fog(x) = flg(x)), z € X
TREB3EH go f & [, g DARBEHRLLS.
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y=f(@) t=yg(x) DEMEEBIZ y = f(g(2)).
y=1,t=a>+3z+2 OEMEKIE y = (2% + 32 + 2)°.
y=+1tt=2a%+3z+2 OEHEHKIE vy =22 + 32+ 2.

y =sint, t = 2% + 3z + 2 OGEEIE y = sin(z? + 3z + 2).
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y=f(t), t=g(z) : MPAEE = y= f(g(x)) : WOAET

ay_dyar
de — dt dz’

(&F72id (f(9(2)) = f'(9(2))g'(x))
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dy _ o fgla+ A2) — flg(@))

% - Azxz—o Ax
dy . f(t+ A1) - f(#)
o T A At
dt . gl + Az) — g(x)
% o Alggo Al

TH 3o

gz + Azx) — g(x) = At, f(t+ At)) — f(t) = Ay
EHELL flglx+ Ax)) — flg(x)) = flg(x) + At) — f(t) = Ay £S5

VR T VR
dxiAglcrEo Az’ dt = A, At’ dxiAalcrgo Ax
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dy dt
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(BR8] (1) f(z)= (2% + 3z +2)° OEREABZERD B,
y=f(z), t=a2>+3z+2 &&K.

BA% y = (22 + 32 +2)° IZEABK y = 17, t = 22 + 30 + 2 DARBEKTH 3.

it d B
dy d s 4
== S (%) =5t
dt dt( ) =5
EH S EHEBOMAEICED
dy _dydt 4 _ 2 4
I dtdx_5t X (2z 4+ 3) = 5(2z + 3)(2* + 3z + 2)
THB.
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